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This Question Paper consists of 29 questions and 10 printed pages + one outline map of India.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective type questions are to be answered within the allotted time and

no separate time limit is fixed for answering objective type questions.
5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 Write your Question Paper code No. 53/AS/3— on the Answer-Book.

7 (@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the

responsibility for any errors/mistakes in understanding the question will be yours only.
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% T HUL BY 5 | 39 9@ B S A B A 6 99T wivd w0 H T

JEFTSs et ® stmuml IR fawedt (A), (B), (C) T@1 (D) ¥ € i3 Tk IAX g & qur &
TS IA-YRa®! H ST ¥l Sa fahay |

IS U9 b FE—A1 G U9 &b S e orafy & 9aY &1 &9 § | aggiTss get
& fu o 9 g9 TRl R s

ST-GRa®! § Tea—Tae s Seen i Wl % sfaied wel 91 T faEe 1%
el Bl ST AT SR |

ST TER-gReT TR WeTws bl s wen S3/AS/3-[A] frd |

() WTUA had /ST ¥ & | Y o, afy o o @ A Y T8 o ue 9w § S}
T ghd ¥

Siepull, AT, STHRET, U, HYHI, @@pa i fer |

FUAT TR—YRadH 9 Y Y S § T % onw few Wt § o fow W@ R

(@) afy e &t ua oS % arfafia fpdt o o & SO foad € aF w9 &l aus
¥ B ol Jreat | it e daa s g

o

AEAATTAURRANTAARITIRAAR - 1 Cont...

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

SOCIAL SCIENCE

GICIECHCEIC))
213)
Time : 3 Hours] [Maximum Marks : 100
g 3 "] [qui : 100
Note : (1) All questions are compulsory and carry marks as indicated against each
question.
(2) For Multiple Choice Questions four options are given. You have to choose
right option and indicate it in your answer book.
(3) Attach the map with answer script.
et : (1) Af veT sifed T X ud® UeT & oid SHe e Y ™ ¥
(2) IGHS 9 & TR—AR fobe & ™ ¥ oW we fgeew g si oTaer
s gfe ¥ fafed |
() @ © 9nfE & Sa-gRaer & Wi g B |

1 In the given political outline map of India, mark and label the following with  1x4=4

appropriate symbols :

(A) Kanyakumari
(B) River Mahanadi

(C) The state having lowest density of population according to 2001 census

(D) Panchmarhi biosphere reserve
g T ARG % TeEiae @-aEtas o, fEaiaa e suge ol 9
TET quT o9 % M fahag

(A) FmgaTd

(B) W

(C) 2001 ST & SR GIH HH T ATl A

(D) UTHE Wa ST &
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2 Identify and write in your answer book the correct names of four major international  1x4=4
airports shown as (A), (B), (C) and (D) in the given political outline map of India.

foT U ARa % e YE-aEE ¥ 9R Yg@ e g aigel &1 (A), (B),
(C), (D) & T AT ¥ | 3= WA 9 I |l 1 70 Iax—gfaasr o fafeay |

Political Map of India
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The following questions are for the BLIND CANDIDATES ONLY
in lieu of Question No. 1 and 2.

o U U 99T haw EfCEM wlientiE &% fau wew dWemr 1 9w 2 %
WY T ¥ |

What is a pass ?

AT BT B 7

Name any two passes situated in the Greater Himalayas.
T e ¥ Rua Rl @1 U % AW faiag |

Name the river along which Patna is located.

39 o @& A9 fafae fed e 9o Rud ¥

What is an estuary ?
wegall fd wEd ¥ ?
Name any one state which has more than one international airport.

T Tl Tk T w1 W fAiey e vk ¥ e s waE o
e ¥ |

What is the function of Pawanhans Helicopter Limited ?

TqTeE Famiey [aies & & w®ar ¥ 7

What is the drawback of air transport ?

TS UIAET Bl BUT T T 7

3 The tenure of a Rajya Sabha Member is :

(A)
©

5 years (B) 6 years

3 years (D) 2 years

TG 95 B HEGE ol

(A)
©
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4 Which one of the following is NOT an indicator for measurement of economic 1
disparity ?

(A) Per capita income (B) Industrial growth
(C) Topography (D) Poverty
Prefafan & ¥ B @ oTiE Rl ¥ T B qEs W b 7
(A) ufq =R s (B) i ghg
(C) ety D) T
5 Why did Gandhi suspend his Non-Cooperation movement ? 1

(A) British government accepted all his demands.
(B) Due to differences among congress leaders.
(C) Gandhiji was arrested during the movement.

(D) Due to violence that erupted in Chauri Chaura.

I B e T e e I O TR G R 0|

(A) fafest s = S@T W@l W w@er &Y |

(B) &g Admet & 99 HANG B BT |

(C) Tkl & 38 o< & IR e & foar |
(D) drdrg g o A & e

6 In which one of the following spheres was the least impact of iron felt during 1
the Iron Age ?

(A) Agriculture (B) Domestic activities

(C) Transport and Communication (D) Warfare
frafafgd o § @9 @ &5 ¥ e & Y9E |egT § a9 B9 TgHa fear T ?
(A) By (B) =Xe wRIGWT

(C) IEEE 9 49X D) I=s

=
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How did the approach to peace and security evolve during the freedom 2
movement ?

gTifT T & & JUNH &1 SGHd TS SR & A &y ol ¢

Differentiate between subsistence and commercial farming. 2

frae quar aifiiee odr § oy W Sty |

Differentiate between direct and indirect elections in India with examples. 2

ARG ¥ Y@& qoO1 oAe Al b S SaRll dfed ST W By |

The population of a district is 2,50,000 and its area is 1250 square km. 2
What would be the density of population ?

fpdl W STl & S=EEr 2,50,000 qT @@l & & 1250 @ fean ¥ )
TET B TGS T FT A ?

What was the reason behind the formation of United Nations Organisation (UNO) ? 1+3=4
State any three aims of the UNO.

YYFRT UL (UA.S) & TS % U T BRI A7 7 GUAGN. & el qW Ig9al
B I DI |

What was 'Dhamma’' according to Ashoka ? Name any four places where edicts of 2+2=4
Ashoka have been found.

Aelee & AR ‘O H R q@d ¢ ¢ UH Bl Ar W % AW fatey
STel 3% REmM@ 99 e ¥ |

State any four main features of hot weather season in India. 1x4=4

ARG § AT Fg & el ar fagoaret &1 Iw@ By |

What is the meaning of Constitution ? State any four provisions in the 2+2=4
Constitution of India.

GHIU™ 9 RT AHYE & 7 9Rd & GO & Rl AR YEEEl B 3@ BTy |

~
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15 Why did the industrialised countries choose Asia and Africa to extend their 2+2=4
dominance ? How did growth of transport and communication help in the
spread of imperialism ? Give any two reasons.
afreinfipa gt = Tl qur enhie w1 S gqe e % frg e gee R ?
UEE &% Bad § E[ 9 @9 b e 7 6E UeR ¥ "ewdl & ¢
B 4@ B AR |

16 Explain any four disastrous effects of imperialism on colonies. 1x4=4
SUFRSl T gENEAR % fhel AR e gl @ e sy |

17 How did English education contribute to the rise of nationalism in India ?  1x4=4
Explain any four reasons.
3OS f1em 7 Aa W UgaR @ gig H 9 Ue areE fear P AR sRu
W BT |

18 Explain any four characteristics of Tropical Evergreen forests. 1x4=4
SWGCAHE TAEE i @I el ar [Geoarstt &l &R DIy |

19 Explain any four provisions in the Constitution of India that have created 1x4=4
a strong Central government.
FEF BN B @O 8 IR |

20 Differentiate between Pressure groups and Interest groups by giving four 1x4=4
points of distinction.
A Wl qo1 B9 Wl % 9 AR oY WR Hify |

21 Explain any four agencies which help to formulate public opinion. 1x4=4
S T B H Herw el AR sifWeel @ Amer ity |
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22  Explain any four corrective measures for the elimination of gender 1x4=4
discrimination in India.
ARG o R HEHE % ST & 104 bl ar Ueis Su™l &l ATl HIg |
23  Study the table given below and answer the questions that follow :
Station 'A'’
Temperature (in °Celsius) and Rainfall (in cm)
Months JIFIM| A | M J J A S O N |D
Temperature | 27 |27 [28 | 29 | 29 [ 27 | 26 | 26 | 27 | 27 | 27 |27
Rainfall 23 12139106 | 208 [356 | 223 | 146 [138 [ 273 [ 206 | 75
(1) Calculate the annual average temperature of Station A. 1
(i) Calculate the annual average rainfall of Station A. 1
(iii) For how many months Station A receives more than 100 cm rainfall ? 1
(iv) What type of climatic condition Station A represents ? 1
a1 TS AR B IS BHIY JAT FEH A 7Y MY YA % IOX f@Rag
QA
e (C AfeaE #) qun g (S H)
e || w | e | w | g e | e ||
amErd (27 |27 128 (29 | 29 | 27 | 26 | 26 | 27 | 27 | 27 |27
qut 23121139106 (208 |356 | 223 | 146 (138|273 1206 |75
() WA ‘or @ ofgd e e @ TUET B |
(i) WA oV & ofud aie aul &I TUET SHIfT |
(iii) fpa™ #&FT § WM ‘or ® 100 W ¥ offus Il er ¥ °
(iv) WM ‘&7 fpg UsR @1 S@arg & gofiar & 7
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24  "The right to Constitutional remedies is the most important fundamental right." 2+2=4
Justify the statement by giving any two arguments.

“HIue ITERl B SUeR EY Y@ YW@ AUeR ¢ I 36 HUT & fhwl &
TBl B WEEA § UEETd o8y |

25  Suggest any four measures to address the problem of corruption in the Judiciary. 1x4=4

IS H IRER B g9 & I & & Y B AR 30T gAY |

26 Describe any five features related to society and economy of the Harappa 1x5=5
civilisation.
TSUF R W WIS qoT stefegaRar gl fhel wia fagiaret @1 ave
BT |

27  What is density of population ? Describe any two physical factors affecting 1+4=5

distribution and density of population with examples.

TET T T SIUYE ¥ 7 SNEET & u qdT fadier @l gemed e
I TRl A Oifas BRS BT IFEEN Ged dUE BT |

28 Explain any five effects of the socio-religious reform movements on Indian  1Xx5=5
society in the nineteenth century.

SHEAl WAl W ARG 9] WX ESTe-aTie guR % feel e gemEl @l
AT B |

29 Explain any five legislative functions of the Indian Parliament. 1x5=5

IRA HEe & fhel wa faurl wri @ e s |
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